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Colours for output linearization: 3 colouR=0O, G-L, B-V
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input:rgb setrgbcolor
output: no change
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Nigb 90 =>19b%Fain  hrgh  [L* C¥ap. hap, @, D*lyiae [L* C*ap . hap, &%, b*]Fae NFae Chae UFae Urae JFae  OVBMaeit OlV3Ege, it
g % 648 1.0 0.0 00 300 527 813 255 734 350 52.7 81.3 255 73.4 35.0 0.0 1.0 b99r m8lo 1.0 00 0189 1.0 0.0 %Jl
go Nigb 90 =>0WV3pain  higy  [L*) C¥ap s hap, @, D*lyag [L* Cap » hapy &%, b*]Fag NFad C Fad U Fad Orag dFag  rgb% 3Mad |t rgb%raq, |t =1
3. Q 648 1.0 00 00 300 556 86.2 38.2 67.7 533 55.6 86.2 38.2 67.7 533 rl9j mi00o 0.19 0.0 0. w®
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b 3 Colours no. 3 Colours no. =
39 j=648 output of the elementary coloue j=648 output of the device colout: 3
(@]
g.._—c rgb input (in): linear interpolation (it): 3D interpolation (3D): rgb input (in): linear interpolation (it): 3D interpolation (3D): D
o< rgbt, 0.0 0.0 1.0 0.0 0.189 1.0 0.0 0.191 olvi, 1.0 0.0 0.0 1.0 0.19 0.0 1.0 0.149 0.078 8
25 rgbt, gbit 255 0 0 255 0 48 255 0 49 Vi, git 255 0 0 255 49 0 255 38 20 c
E.g L*, ¥ Mo 524 90.7 382 527 813 255 543 88.0 286 L*, C¥p, Moy 524 90.7 382 55.6 862 38.2 57.4 89.3 402 @
':E:_r = AE*,, AE* it<in: 212 21.2 3D-it: 8.3 83 AE*,, AE% it<in: 55 55 3D-in: 6.1 6.1 g
== S
g Nigb 90 =>19b%Eain  hrgy  [L* C¥ap. hap @ D*lyiae [L*, C*ap . hap, &%, B*]Fae NFae CFae UFae Urae dFae  OVBMaeit OlV3Fge,it g
'3 657 1.0 0.125 0.0 36.6 525 856 328 719 464 525 856 328 719 464 0.0 1.0 r11j m89 1.0 00 0.106 1.0 0.0 O_C-ji
= ® Nrgh 190 =>0WVEEain  hrgp  [L* Cap ., Nap, @% D*Jyag (L%, C*ap , hap, @, b*]Eag MEad Cf Fad U Fad drag dFag  rob* 3Mad |t rgb%srad, |t S.
2 8 657 1.0 0.125 0.0 36.6 58.7 827 452 583 58.7 58.7 82.7 452 58.3 587 r29j olly 0.295 0.0 0.295 @
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o 3 Colours no. 3 Colours no. 5
E =1 j=657 output of the elementary coloue: j=657 output of the device colout: =
=50 rgb input (in): linear interpolation (it): 3D interpolation (3D): rgb input (in): linear interpolation (it): 3D interpolation (3D): o
== rgb%, 10 0125 0.0 1.0 00 0106 1.0 00 0107  olv}, 1.0 0125 0.0 1.0 0295 0.0 1.0 0251 0.057 "
'_c:\_ g rgb, gpit 255 32 0 255 0 27 255 0 27 oV gpit 255 32 0 255 75 0 255 64 15 S
I: — L*, C*p Nap 53.8 88.6 40.6 525 856 328 525 86.5 337 L*, C* oy 53.8 88.6 40.6 58.7 827 452 60.2 854 46.0 5
8 m AE*,, AE* it-in: 12.3  16.7 3D-it: 1.7 5.0 AE*,, AE% it<in: 103 7.9 3D-in: 10.9 85 3
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% E nrgb rgb - r(‘:]b*fBF.al,in hrgb [L*' C*ab’ hab’ ar, b*]Mae [L*1 c*ab’ hab' ax, b*] Fae n*Fae C*Fae u*Fae dFae d*Fae OIV*SMae,it OI\/*3Fae,it
D 666 1.0 025 00 439 540 883 410 66.7 57.9 540 88.3 41.0 66.7 57.9 0.0 1.0 r23j o013y 1.0 0132 00 1.0 0.132 0.0
o
o g Nigb 90 =>0WV4pain  hrgh  [L* C¥ap . hap, @, D*lyad [L* C*ap , Nap, &%, b*]Fag NFad CFad UFad drad dFad  rI0%BMadiit rgb%rad,it
hroO 666 1.0 025 00 439 627 80.0 529 48.2 63.8 62.7 80.0 529 48.2 63.8 0.0 1.0 r41j o023y 1.0 0411 00 1.0 0.411 0.0
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3 3 Colours no. 3 Colours no.
D - j=666 output of the elementary coloue: j=666 output of the device colout:
o
= %) rgb input (in): linear interpolation (it): 3D interpolation (3D): rgb input (in): linear interpolation (it): 3D interpolation (3D):
) rgb%-, 1.0 0.25 0.0 1.0 0.132 0.0 1.0 0.133 0.0 olvi, 1.0 0.25 0.0 1.0 0.411 0.0 1.0 0.376 0.048
rgb, git 255 64 0O 255 34 0 255 34 0 oV, gpit 255 64 O 255 105 0 255 96 12
L*, Chp gy 57.3 84.0 470 54,0 883 41.0 542 889 408 L*, Chp hyp 57.3 84.0 47.0 62.7 80.0 52.9 64.0 825 527
AE%,, AE% it-in: 105  14.7 3D-it: 0.7 3.6 AE*,, NE%, it-in:  10.8 8.9 3D-in: 10.8 9.3
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